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3/Prepare an Accounting Equation and(Balance Sheetjon the following basis:
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Prepare Accounting Equation from the following:

9 Started business with@ash X 1,00,000)and( Goods  20,000)
4% Sold goods worth X 10,000 for cash X 12,000.
gi) Purchasedgurniture]

on eredit for T 30,000.
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Paid into bank ¥ 10,000.

M Purchased goods for cash(Z 20 OOO]and credit® 30.000) UDDDD S rve
Sold goods for cash ¥ 40,000 costing T 30,00@

éDiZ. Raghunath had the following transactions in an accounting year:
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Purchased motorcycle for cash ¥ 20,000. — Assck (+) v (PYNED)
reate an Accounting Equation to show the effect of the above and also show his Balance Sheet.
[Assets: Cash X 34,500 + Bank X 10,000 + Stock T 20,000
+ Furniture X 5,000 + Motorcycle ¥ 20,000 = Liabilities: Creditors % 30,000
+ Outstanding Rent X 100 + Vendor for Furniture X 5,000 + Capital: ¥ 54,400.)
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\/Show an Accounting Equation for tfe followin}

t@}sactions: D)
D. Mahapatra comagenced bysiness wiéc sh < 50,000 and X 1,00,000 by cheque; gog%)s
% 60,000; machinéfy % 1,00,000 hnd furdityire X 50,000.  Capitak = 360,000

@Mllsrd of the above goods sold at a profit pf 10% on cost and half of the payment is
received in cash.

\t)/ﬂ'/ Depreciation on macilinery provided @ 10%. li’ G ,D, 000 D L lsom
M—Cash withdrawn for p al us 10— Cas (D pr(—-\ AW tuge
WE ) Interest on drawings charged D boo Capiel () Capitall ).)

# Goods sold to Gupta for ¥ 10,000 and received a Bill Receivable for the same amount
{ﬂ for 3 months.

\ (1) Received T 10,000 from Gupta against the Bills Receivable on its maturity.

[Assets: Cash % 61,000 + Bank X 1,00,000 + Stock (goods) X 30,000 + Machinery
% 90.000 + Furniture T 50,000 + Debtors ¥ 11,000 = Liabilities: Nil + Capital: X 3,42,000.]
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[Assets: X 2,29,600 = Liabilities: X 51,500 + Capital: ¥ 1,78,100.]
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